T'Da
88-151 NPPLHVNMA AWNN PWIPY
iR}

MORWN 23 5y YD v
NORYN DV WD TN DOV MAWNN DX 2IND

-¥ 79 4000 -2 2 Y2 W n DN OMNMOW NN .1

1
1+n?

7?7 sinn <

DY 10 x 3 5712 A NYIVN DIINN WX Matlab -2 TP N NP 1M .2

NNYNRIN NTINYA N2 ITOA 10 TY 1 DIVONN (N)
TPVOUN NTNYA 79 7702 20 TY 11 ©M90mN Q)
WD NTINYA 1-5 0 P2 DPNRIPN DM9DN )

TPNPNON SV (OPMIPN) TN DIDPD DIDWPOPN YW NS ,PPT 19D 20 -9 X80 3

sin 3x + cosx

J) = rm
TIN NYD 4
FA)+ f(2)+ fB3)+... + f(50)
) NI
sy = U=

NAVNA PPT N0 5 MNAY NND v

TPONTPIND NITOA 5
1,18,35,52,...,1701

? 2 D790 DIN)) DIDN NND



N TN 990D VITIVON DY

IMIWN



